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If the equation of the hyperbola is

9y? —4x? =36, then

I.  the coordinates of foci are (Oji\/ﬁ\)/-—’—? (D, 1 50) — (D, _'/j\/f_é—)

2

II. th tricity 1s —7— .
e eccentricity is NE X
III. the length ofthe latus rectum is 8. o(
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Ifthe medians from A and B of the triangle with vertices
A (0, b), B (0, 0) and C (a, 0) are mutually perpendicular

then
(a) a’=b? o) a2 =2p? slope of Ap=0-6b  _ ~ 24
(c) a?=4b’ (d) 2a’=b? (m;) _f?_—-o o

S’/D/Dc D/ﬁg - 5/2_-.04- ~ !)

B (0,0) (1) b0 ®
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A line passes through P (1, 2) such that 1ts intercept between

the axes is bisected at P. The equation of the line is

(a) x+2y=5 (b) x—y+1=0
(c) x+y-3=0 (d) 2x+y—4=0
v
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If the coordinates of the points A and B be (3, 3) and
(7, 6), then the length of the portion of the line AB

intercepted between the axes is é% -4 y =~%
s y 0
(a) 4/ (b) 4 4 f # - j
3 -
(c) @ (d) None of these ("_3") ( :'?{'
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Q) The perpendicular bisector of the line segment joining P
(1,4) and Q(k, 3) has y-intercept —4. Then a possible value

of k 1s
@ 1 (b) 2 € -2 @ -4/
b S/s/xe D/ P =49 - -
k| K~/
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Q) The bisector of the acute angle between the straight Imes 3x
—4y—3=0and 12x + 5y+ 6 =0 passes through which one
of the following points ?

@ 6,3) (b) (3,0)
(© 2,7) d) (1,4
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Q)If (-5, 4) divides the line segment between the coordinate
axes in the ratio 1: 2, then what 1s its equation?

(@) Sx+5y+20=0 (b) 5x+8y-7=0
() 8x=5y+60=0 (d) Sx—8y+57=0
_ D X
(-5,4) -5 = X0 7 44 = /x%} -
fay0) © (0,8) 0
_’15‘ :CL ~—
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Q) The equation of the circle which touches the axes at a
distance 5 from the origin is y? + x* — 2o — 20y + a2 = 0.
What 1s the value of a?

(@ 4 ®) 5
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Q) What does the equation x3y + x3° — xy = 0 represent?

(a) A pair of straight lines only

(b) A pair of straight lines and a circle /
(¢) A rectangular hyperbola only

(d) A rectangular hyperbola and a circle
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Q)If the image of the point (— 4, 2) by
a line mirror is (4, — 2), then what is
the equation of the line mirror?

[ ~
@y=x b) y = 2x (@ Spe =

Cc) 4y = d) y=4 be =
(©) 4y == (@) y =4z L] slpe = 4 FL P

¢ / :,_L— "
(-4 2) © Ipe %
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Q) The difference of focal distances of any point on a hyperbola

1s equal to
(a) latusrectum (b) semi-transverse axis
\(9 transverse axis (d) semi-latusrectum

T PE, — PF, = Za ( Length lf;
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Q) The two parabolas y* =4ax and

x° = 4ay intersect (7!1 - Hax

(a) at two points on the line y = x.,/” -
) only at the origin g b ax dz__: 16a”
) ”

(b
(c) at three points one of which lies on
y+x=0 =Yg

(d) only at (44, 4a) 1Y LYa® —
1° = GVG!
X = 44
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Q)If A, B and C are in AP, then the
straight line Ax + 2By + C =0 will
always pass through a fixed point.
The fixed point is
(@) (0, 0) ) (=17

© (4 - 2) @a-1n /)
v

A 8, C
0?32 A‘/‘C B-A ;C'B
A-aB +¢ :05/@

AY +38y+C=0 —@
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Q) What 1s the locus of the point of intersection of the
straight line x cos® + y sin0 = ¢ and the straight line
x sin® — y cos6 = b?
(a) A circle v/ (b) An ellipse
(c) A hyperbola (d) A parabola

v co st +dﬂ§'/°n2(9 + a?z&{f/'neoom
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Q)What is the acute angle between the lines
Ax+By=A+Band A(x—y)+ B(x+y)=2B?

(a) 45° (b) tan™? [ A ]

J A%+ B?
(©) tan~> ( \/ﬁ) (d) 60°
+
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Q) The centres of those circles which touch the circle,
x*+y?— 8x—8y—4=0, externally and also touch the x-axis,
lie on:
@ ahyperbola Sum of _ distany behway
(b) aparabola m 4/ / Conreh

(c) acircle

—

(d) an ellipse which isnot acircle N 6+k - \/(f{-/))lnf (C/ —-/4)1
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The focal distance of a point on the parabola y* = 8x is 4.

Its ordinates are:

(a) *1 (b) +2 () £3  (d) =4

v
2 (4/3) 'pUCA/ d{lcfanu = X+
J = 7o ;
£ =3 F(R,O) 171.2;5/

o (w) = &,
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